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Time: 3 Hours        Marks:100    

 

Note: 1. All Questions are compulsory 

           2. Figures to the right indicate full marks. 

 

Q.1. (A) Fill in the blanks with suitable options given below (Any 10)                 [10]  
 

1. ______ is a transfer of information from one person to another. 

(Motivation, Leadership, Direction, Communication) 
 

2.________________takes place between different departments or people on the same level 

in the organization.  (Downward communication, Upward communication, Horizontal 

communication, Vertical communication) 
 

3.________________ leadership style is mostly adopted in Japanese organizations. 

(Autocratic, Bureaucratic, Paternalistic, Sociocratic) 
 

4. The success of communication depends on ___________. 

(leadership, discussion, information, understanding) 
 

5. ____________are the basic needs of human beings. 

(Safety and security needs, Physiological needs, Esteem needs, Self -actualization needs) 
 

6. ____________refers to inter- linking of actions. 

(Coordination, Communication, Conciliation, Co-operation) 
 

7. __________ refers to extra payment over and above salary given to an employee as an 

incentive. (Motivation, Appreciation, Reward, Bonus) 
 

8. ERP software allows organizations to use a system of ___________ applications. 

(isolated, integrated, new, outdated) 
 

9. In the case of _________ technique, a person is given freedom to set his own targets, 

evaluate his own performance, and take corrective measures as and when required. 

(MBO, Budgetary control, Self-control, Management audit) 
 

10. _________ means any alteration that occurs in the work environment 

(Organizational change, Resistance to change, Management of change, Time management) 
 

11. ____________ is called a substantive conflict. 

(Role conflict, Emotional conflict, Task conflict, Intrapersonal conflict) 
 

12. ___________ control technique is based on a single estimate of time required for the 

completion of activities. (Strategic momentum control, CPM, ERP, Self-Control) 

 

Q.1. (B) State whether the following statements are True or False (Any 10)          [10]  
 

1. An effective leader should be a coach and a guide. 

2. Supervision is an important element of direction. 

3. The use of Jargon is a Physical barrier in the communication process. 

4. Under the consultative style of leadership, a leader gives orders to their subordinates. 

5. Theory X is the professional approach to management. 

6. Esteem needs are also called ad ego needs. 

7. Good working conditions are the part of Monetary benefits. 

8. There is no difference between strategic control and operational control. 

9. Customization of ERP cannot be easily handled. 
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10. Break-even means no profit no loss. 

11. Drop-in visitors is one of an issue in managing time.  

12. Organisational Development is a short-term effort.  
 

Q.2. Answer the following: (any 2)                                                                              [15]  
a) Discuss the elements of directing. 

b) Elaborate on the steps involved in the communication process. 

c) Explain in brief the various leadership styles. 

 
 

Q.3. Answer the following: (any 2)            [15]                                                                                
a) Explain the meaning and importance of coordination. 

b) Explain the financial and non-financial factors that affect motivation. 

c) Explain McGregor’s Theory X and Theory Y. 
 

 
 

Q.4. Answer the following: (any 2)                                                                              [15]  
a) Define Controlling. Discuss the process of Controlling. 

b) Explain the flow of information in a typical Organisation. 

c) Explain the steps in designing and developing a modern MIS. 

 
 

Q.5. Answer the following: (any 2)                                                                             [15]  
a) What are the characteristics of organizational development? 

b) What are the ways to manage organizational change? 

c) What are the consequences of conflict? 

 
 

Q.6. Write Short Notes on: (Any 4)                                                                           [20]    

a) Path-Goal Model of leadership  

b) Abraham Maslow’s Theory 

c) Time Management 

d) Management of change. 

e) Downward Communication 

f) Managing Workforce Diversity. 

********** 
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मराठी रुपाांतर 

    वेळ: ३ तास   गुण:१०० 

 

सूचना: १. सर्व प्रश्न अनिर्ार्व आहते.  

           २. उजर्ीकडील अकं परू्व गरु् दर्वनर्तात.  

           ३. मळू इगं्रजी प्रश्न ग्राह्य मािार्ते.  

 

प्र. १.(अ) खाली दिलेल्या पयाायाांमधून योग्य पयााय दनवडा. (कोणतेही १०) [१०]  

१. ________ म्हर्ज ेएका व्र्क्तीकडूि दसुऱ्र्ा व्र्क्तीकडे मानहतीचे हसतांतरर् होर्. 

 (अनिप्रेरर्ा, िेततृ्र्, संचालि, संदरे्र्हि) 

२. ________ ह ेर्गेर्गेळ्र्ा नर्िागांमध्र्े नकंर्ा संघटिेतील समाि सतरार्रील लोकांमध्र्े घडूि र्ेते. 

(अधोगामी संप्रेषर्, ऊध्र्वगामी संप्रेषर्, निनतजसमांतर संप्रेषर्, अिलंुब/उि ेसंप्रेषर्) 

३. ________ िेततृ्र्र्ैली बहुतेक जपािी संघटिांमध्र्े सर्ीकारली जाते.  

(हुकुमर्ाही, िोकरर्ाही, पालकत्र्, सामानजक)  

४. संदरे्र्हिाचे र्र् ________ र्र अर्लंबिू असते. (िेततृ्र्, चचाव, मानहती, समज) 

५. ________ र्ा मािर्ाच्र्ा मलूितू गरजा आहते. 

 (सरुिानर्षर्क गरजा, र्ारीररक गरजा, अहपंर्ाच्र्ा गरजा, सर्र्ं-पतूीच्र्ा गरजा) 

६. _____ म्हर्ज ेनिर्ा / कार्ाांमधील परसपर जोडर्ी होर्. (समन्र्र्, संज्ञापि, सलोखा, सहकार्व) 

७. ______ म्हर्ज ेएखाद्या कमवचाऱ्र्ाला प्रोत्साहि म्हर्िू पगाराहूि अनधक अनतररक्त नदलेली रक्कम होर्.  

(अनिप्रेरर्ा, प्रर्संा, बिीस, बोिस) 

८. ईआरपी सॉफ्टर्अेर संघटिेला __________ अिपु्रर्ोगांची प्रर्ाली र्ापरण्र्ाची परर्ािगी दतेे.  

(नर्लग, एकानत्मक, िर्ीि, कालबाह्य) 

९. ________ तंत्रािसुार बाबतीत, एखाद्या व्र्क्तीला सर्तःचे लक्ष्र् निनित करण्र्ाचे, सर्तःच्र्ा कामनगरीचे 

मलू्र्मापि करण्र्ाचे आनर् आर्श्र्कतेिसुार सधुारात्मक उपार्र्ोजिा करण्र्ाचे सर्ातंत्र्र् नदले जाते.  

(एमबीओ, अदंाजपत्रकीर् निर्ंत्रर्, सर्र्ं-निर्ंत्रर्, व्र्र्सथापि नहर्बेतपासर्ी) 

१०. ___________ म्हर्ज ेकामाच्र्ा र्ातार्रर्ात होर्ारे कोर्तेही बदल होर्.  

(संघटिात्मक बदल, बदलाला नर्रोध, बदलाचे व्र्र्सथापि, समर् व्र्र्सथापि) 

११. ________ ला साथवक संघषव म्हर्तात. (िनूमका संघषव, िार्निक संघषव, कार्व संघषव, र्रै्नक्तक संघषव) 

१२. ________ निर्ंत्रर् तंत्र निर्ाकलाप परू्व करण्र्ासाठी लागर्ाऱ्र्ा र्ेळेच्र्ा एका अंदाजार्र आधाररत 

आह.े (व्र्हूरचिात्मक गती निर्ंत्रर्, सीपीएम, ईआरपी, सर्र्ं-निर्ंत्रर् 

 

प्र. १. (ब) खालील दवधाने सत्य आहेत की असत्य आहेत ते साांगा. (कोणताही १०)                [१०]  

१. प्रिार्ी िेता हा प्रनर्िक आनर् मागवदर्वक असार्ा. 

२. पर्वर्िेर् हा संचालिाचा एक महत्त्र्ाचा घटक आह.े 

३. िाषासरर्ीचा र्ापर हा संप्रेषर् प्रनिर्ेतील एक िौनतक अडथळा आह.े 

४. िेततृ्र्ाच्र्ा सल्लागार र्लैीिुसार, िेता त्र्ांच्र्ा अधीिसथांिा आदरे् दतेो. 

५. नसद्ांत ‘ि’ हा व्र्र्सथापिाचा व्र्ार्सानर्क दृनिकोि आह.े 
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६. अहपंर्ाच्र्ा गरजांिा मीपर्ाच्र्ा गरजा असे दखेील म्हर्तात. 

७. चांगली कार्व पररनसथती हा आनथवक लािांचा िाग आह.े 

८. व्र्हूरचिात्मक निर्ंत्रर् आनर् कार्वकारी निर्ंत्रर्ामध्र्े फरक िसतो. 

९. ईआरपीचे सािकूुलि सहज हाताळले जाऊ र्कते. 

१०. समता नबंद ूम्हर्ज ेिा िफा िा तोटा होर्. 

११. अर्ळेी र्ेर्ारे अभ्र्ागत ही र्ेळेचे व्र्र्सथापि करतािा एक समसर्ा आह.े 

१२. संघटिात्मक नर्कास हा अल्पकालीि प्रर्त्ि आह.े 

 

प्र. २.खालीलपैकी कोणत्याही िोन प्रश्ाांची उत्तरे दलहा.                    [१५] 

अ. संचालिाच्र्ा घटकांची चचाव करा. 

ब. संप्रेषर् प्रनिर्ेतील टप्प्र्ांची तपर्ीलर्ार चचाव करा.  

क. िेततृ्र्ाच्र्ा नर्नर्ध र्लैी थोडक्र्ात सपि करा. 

 

प्र. ३.खालीलपैकी कोणत्याही िोन प्रश्ाांची उत्तरे दलहा.                      [१५] 

अ. समन्र्र्ाचा अथव आनर् महत्त्र् सपि करा. 

ब. अनिप्रेरर्ा प्रिानर्त करर्ारे आनथवक आनर् आनथवकेतर घटक सपि करा. 

क. मकॅग्रेगरचा नसद्ांत ‘ि’ आनर् नसद्ांत ‘र्’ सपि करा. 

 

प्र. ४.खालीलपैकी कोणत्याही िोन प्रश्ाांची उत्तरे दलहा.                     [१५] 

अ. निर्ंत्रर् पररिानषत करा. निर्ंत्रर् प्रनिर्ेची चचाव करा. 

ब. सर्वसाधारर् संघटिेमध्र्े मानहतीचा प्रर्ाह सपि करा. 

क. आधनुिक एमआर्एस रचिा आखर् ेआनर् नर्कनसत करण्र्ाच्र्ा पार्ऱ्र्ा सपि करा. 

 

प्र. ५.खालीलपैकी कोणत्याही िोन प्रश्ाांची उत्तरे दलहा.                    [१५] 

अ. संघटिात्मक नर्कासाची र्ैनर्ि्र्े कोर्ती? 

ब. संघटिात्मक बदल व्र्र्सथानपत करण्र्ाचे मागव कोर्ते? 

क. संघषावचे नर्नर्ध पररर्ाम 
 

प्र. ६.दिपा दलहा. (कोणत्याही चार)                                          [२०] 

अ. िेततृ्र्ाचे पथ-लक्ष्र् मॉडेल 

ब. अब्राहम मसॅलोचा नसद्ांत 

क. समर् व्र्र्सथापि  

ड. बदलाचे व्र्र्सथापि  

इ. अधोगामी संप्रेषर् 

फ. कार्वबल नर्नर्धतेचे व्र्र्सथापि करर् े

************** 
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